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Six equal rods AB, BC, CD, DE, EF and FA are each of weight W and are freely jointed at their
extremities so 4s to from a hexagon; the rod AB is fixed in a horizontal position and the middle
points of AB and DE are joined by a string. Prove that the tension in string in 3W.
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Show that the greatest angle through which a person can oscillate on swing the ropes of which can

support twice the person’s weight at rest is 120°

) e o o o e 2 R AR 2a A B AR (o AT A A A

s s i i e e %a, et s e e e
-a

F g T W,__mac.lnuy

A uniform chain of length 27, has its ends attached ta two points in the same horizontal line at a
distance 2a apart. If / is only a little greater then a, show that the lesion is approximately equal to

_nuu

6(1-a)

below its end is nearly :w,\anc_ —-a).
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{hie weight of a length of the chain and that the sag of the lowest point of the chain

A particle starts from rest under an attraction k’x directed towards a fixed point and after t mnoo:.n_.
another particle starts from the same position under the same acceleration. Show that the particle
: t
with collide at line ﬁnﬂ - MW after the starts of the first particle, providedt <27 / k.
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ABC is trangle at A, AD is perpendicular to BC. Prove that the resultant at of .Mm acting along
AB and : ting al AC s : along AD

e alon T 0 %

AC & 3 AD £

yafag it ot =57 s 1 ifie Fr sl £ F - = asin nf a7 q faEE
A particle describes the curve » = asin nf under a force to the pole, find the law of force.
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If a planet were suddenly stopped in its orbit supposed circular, show that it would fall into the sun

in a time which is ILW imes the period of the planet’s revolution.
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State and prove theorem of parallel axes for moment of inertia.

Section —C(wmvz ‘&1 ')
Section *C’ contain 4 Long Answer Type Questions. Examinees will have to answer
any two (02) questions. Each question is of 14 marks. Examinees have to delimit
each answer in maximum 500 words.
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(a) BT 31T I 3 ST 31/ 4 B

(b) ¥R 21 g fae = fifom

(c) U BT T FHETRIT /T\MIT& +m+2sin & 2
g

A light elastic string AB of length is fixed at A and is such that if 2 weight W be atached to B, the
string will be stretched to a length 2/ . If a weight Wr4 be attached to B and let fall from the level of
A, prove that

(a) the amplitude of the SHM that ensues is 3/4.

(b) the maﬁaon through which is fall is 2/

o ik
(c) the period of oscillation is /‘WT.‘Q +x+2sin” MQ
g
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